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. (15%) Show that {(1,1,0),(1,1,1), (0,1, 1)} is linearly independent.
2. (10%) If W = {(a1,a3,a3,as) € B* : a; = az = a3} is a subspace of R, find its

o

dimension.
2 2 3
Let A = 1 -1
-1 2 1

{(a) (5%) Calculate detA.

(b) (10%) Determine whether A is invertible, and find A1 if it exists.

(15%) Let A = (Z z) be an 2 x 2 real matrix, the trace of A is defined by

tr(A) =a+d.
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(15%) Let T': R? — R? be a linear transformations defined by
T(a,b) = (3a+ b,a — 2b),

let v = {(1,1),(0,1)} and 8 = {(1,0),(0,1)} be ordered bases for R*. Let [T]¢ be the

matrix representation of T' in the ordered bases v and . Find the matrix [T%.

(15%) Solve the given system of linear equations.

T, + 220 + 333 =2,
1 + 23 =3,

i+ ®z=— 1:3:1)

(15%) For what value of a is

1 5 a 0
2 6 10 0

det a7 0 a =ik
4 & 0 a




